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UNIT 7 — EOCT Review Name:

1. Ina particular state, the first character on a license plate is always a letter. The last
character is always & digit from 810 9.

H ¥ represents the set of all Heense plates beginning with a vowel, and O represents the
set of all icense plates that end with an odd number, which license plate belongs to the
set Fnot?

2. Which of the following events are independent given P(A), P(B), and P(4 and B)?
K A, P4)=0.25; P(BY=025; PlAand B)=0.5 ©25(0:25) 0. 0k2S
X B, P(A)y=008; PB)=04: PAand B)=0.12 0.0 (0.9) = 0.05%
lag oA . PUY=0.16; P(B) =024; P(4 and B) = 0.32 Ooe(o24) =0 {53‘%«2;
D, P{A} =0.3; P(B)=0.15; P{dand B)=0.045 O 2 (e 1Sy = 0,095 Y
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3. Assume that the following events are independent:
s The probability that 2 high school senior will go to college is §.72.

# The probahility that a high school sendor will go to college and live on campus is
0.46.

What is the probability that a high school senior will live on campus, given that the
person will go to collepe?
A 026 college =+ 72
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4. A random survey was conducted about gender and hair color. This table records the

data.
Hair Color
Brown | Blonde | Red
(” Male | 548 876 | 82
716 | 66

Female | 612

Py

‘What is the probability that 1 randomly selected persen has blonde hair, given that the

person selected is male?

A. 051 )b 8T
B. 0.55 males 120
s
B 063
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5. Mrs, Klein surveyed 240 men and 285 women about their vehicles. Of those surveyed,
155 men and 70 women said they own a red vehicle. If a persen js chasen at random
frem those surveyed, what is fhe probability of chonsing a woman ar a persen that does

NOT own a red vehicle?
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6. Bianca spins twe spinners that have four equal sections numbered 1 through 4, Wshe

sping & 4 on af least one spin, what is the probability that the sum of her two spins is am

odd mumber?
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7. Each letter of the slphabet is written on a card using a red fnk pen and placed in a
cantainer. Each letter of the alphabet is also written on a card using a black ink pen
and placed in the same container. A single card is drawn at random from the container.
What is the probability that the card has a letter written in back ink, the letter A, or

the letter Z7 ” e | ‘ N
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8. You spin a spinner with 8 equally likely landing spaces numbered Gﬁ @ i
1 to 8. Event A is landing on a prime number. Event B is landing . ‘ 1
on an odd number, What is the intersection of A and B? <
5 % B
V3% (@ 3,5, 7} X 5 ilj
©{1,2,3,57} @ {1,2,3,4,5,6,7, 8} ﬂ

9. For two independent events A and B, P(A) = 0.5 and P(B) = 0.4. What is P(A and B)?
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10. In a-bag of 20 candies, 12 are red and 15 have peanuts in them. If the events of picking a red
candy and picking a candy with peanuts are independent, how many of the red candies have

peanuts? . 12 o 195, . ( §N¥
B 12 20 20 20

*f-i;‘il 11. Suppose events A and B are independent, P(A) =0.75, and P(B) = 0.5. What is P(A | B), the
5% probability of A given B? e JU—
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12. Darren randomly chooses a card from a standard deck of 52 playing cards. What is the probapiliy
that Darren chooses a club or a queen? |2 4 3 -
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CONSTRUCTED RESPONSE

1. A fair number cube is rolled two times. Are the events that the first roli is an
even number and the second roll is a 6 independent? Justify your answer.

UES .. e Grst moll dees not
JinfTuente Hhe second  roll.

2. 16 cards numbered 1 through 16 are placed face down and Stephanie chooses one at random.
What is the probability that the number on Stephanie’s card is less than 5 or greater than 107
Show your work.
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3. Two-way frequency tables summarize data in two categories. These tables can be used to show if the
two events are independent and to approximate conditional probabilities.

Arandom survey was taken to gather information about grade level and car ownership status of
students at a school. This table shows the results of the survey.

_—Car Owpership by Grade
fOwns a Car\| Does Not Own s Car | Total
{ Jamior | & - 10 16
Senior k2 4 o4
Total 18 i§ 36

SN

Estimate the probability that a randomly selected student will be a junior, given that the student

owns a car.
L Jonior — ’éﬁ"" of 373
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